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UNIVERSITY OF NORTH BENGAL

B.A. Programme 6th Semester Examination, 2021

SEC1 (P2)-EDUCATION

Full Marks: 40

ASSIGNMENT

The figures in the margin indicate full marks.
Candidates should follow the word limit mentioned against each questions.
Candidates should answer in their own words and adhere to the word limit as practicable.

The question paper contains SEC-2A and SEC-2B.
The candidates are required to answer any one from two papers and
candidates should mention it clearly on the Answer Book.

SEC-2A
COMMUNITY DEVELOPMENT

Write any two assignment based answer from the following questions 20x2 =40
(The word limit of each answer will be 500 words)
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1. What do you mean by community and group? Explain the educational functions 3+3+14
of different communities as a group dynamic set up.
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2. Discuss the impact of social inequality and diversity on communities. 10+10
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3. Discuss about various community development programmes in India. 20
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4. Explain Equality, diversity and social justice of the community groups. 20
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SEC-2B
LESSON PLAN

Write any two assignment based answer from the following questions
(The word limit of each answer will be 500 words)
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Explain the concept of lesson plan. Write the characteristics of lesson plan.
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Explain the steps of constructing lesson plan.
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Discuss the principles of development of lesson plan. How is it helpful to the
teacher in taking a class?
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Classify with examples the different types of lesson plan.
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20x2 =40

10+10

20

12+8

20



